TIES AND DOTTED NOTES

BEN PORTNER

A tie is used to connect two notes of the same pitch together, to create a single note. Let's

demonstrate some examples. After that we will talk about dotted notes and combine
the two.
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Now that you have an idea for what the basic tie does. We are going to add some more complex
rhythms. It is very important to count using numbers.
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A dotted note adds a duration that is half the size of the note that it is next to. For example
A dotted quarter would equal one quarter note and one eighth note tied together. A dotted half note
would equal 1 half note and 1 quarter note tied together. A dotted eighth note would equal one
eighth note and one sixteenth note tied together let's demonstrate.
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